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Note : First 15 minutes are allotted for the
candidates to read the question

paper.

L& KR

7 - -— ' { - < rt
T EE-2 % (3), (7)), (M) ik i
T W & dil =T ‘
- ¢ il LG P L k= 4:;' ﬁ
‘i '4.4_ f3 t'_‘-'ll.:'r gl 2 4 K3 ":_6'1‘
W o o-n_; _,‘_d) T -_:'? | .-'4' =3 | I ] r_I;"
v re— —— = — e - .
\‘a; AL o o o | » . U7 51
% I.J
1S5 8% FUNE 21 (wss 7 )
.r -
. 7 T U w3 (g i 7L
A )‘{i I:If o= 1 -
] ¥ y Hh

a7 fdy -
T W5 # (F), (@), (1) wwei

oy mp Eey o . o
=31 H {H gl qT WeA & Jn{ ™IEqy

W W & 3 30w Frifea 2

2x2 =4 3
T WEn-6 F (%), (@), (1) w5 @

W T F I el vas i
37 3 3w Freffm & 2% 3 =6 3tF

) T EET-7 A W e84 Qg

UF 573 7 I @@ ) 9o 997 &9 29
3w fuifea &) I x 10 = 10 3f®



. 824{HX)
o’ ¥ e -
T w9 % (=), (W), (W), (‘)
sl ol S A e O W
I o v v i O s i
ks 2x2-4 3%
EEEL10F (%), (W), (Mw 53
e at ol 3w efgn wew o
4 3 &= Pl b 2x3 =65
W WEEl-l] W O9vE dwmo1) 9 3
e T e W I fea
wEw W 15 dw Bt b (sw
11 (%) -7} %%, w9 11(w) -7} &=
N T 12 = 15 3%)
1=215=15&%

{1) Thus question paper is divided in three
Parts 'A', ‘B and 'C'.
(2] Instructions for Part-A :

i

L

-
=

Arswer any fwo of Muluple chowce
¥pe queshons from (a), (b, (c). (d) of
Questnon No. 1. EBach queston
carnecs 2 marks. 2x2 =4 Marks
Anmqmlmﬂ,ﬂ,(qﬁ
Question 2. Each gquestion
carmies 3 2x3 =6 Marks

- 1

(3

4

FA

(1) Answer any one ol Question No. 3
and Question No. 4. Each question
carries 15 marks.

| Question No. 3[a) = 7! and
Question No. 3(bl = 71 OR Question
No. 4 = |5 marks |

L= 15 = 15 Marks

Instructions for Part-B :

)  Answer any two of Multiple choice
type questons from {a}, (b} , (c} of
Question No. 5. Each question
carries 2 marks. 2 x 2 =4 Marks

{s) Answer any two from (a}, (b), (c) of
Question No. 6. Each question
carries 3 marks. 2 x 3 = 6 Marks

(i} Answer any one of Queston No. 7
and Question No. 8. Each question
carnies 10 marks.

1 x 10 = 10 Marks

m for rm-c

{ Answer any fwo of Multiple choice
type questions from (a}, (b}, (c], (d) of
Question No. 9. Each question
carries 2 marks. 2 x 2 =4 Marks

(i) Answer any two from (a}, (b). (¢} of
Queston No. 10. Each question
carries 3 marks. 2x3 =6 Marks
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{iu] Answer any one of Question No. 11

#)

and Question No. 12. Each question
carries 15 marks.

[ Question No. 11(a) - 73 marks,
Question No. 11(b) - 73 marks OR
Question No. 12 = 15 marks. |

. l « |5 = |5 Marks

gug - §

PART - A
A9 N g & g @ et oA g,
= Fme & faaem sNeAm TR 2

) i) ®
1i) Qe w) H]

@) TF 9O W FEA GEw 40 | ¥ IES
) 2034 i) 40 ¥

wj 80 ¥R v] 160§
A & wow T FEEnie W R
y ARW i) TWE
T ) T

824{HX)

i |

bj

6

TEF T N3 T ET0R T W ST
= F 2 7@ ™= F o G @

) 3 F
i) A &
W) WA & IR I W
w} #-‘-'T*ﬂﬁﬂ‘ilm

When white hight 1s incident on a
prism which of the following colours

is deviated most ?
1) Red ) Green
w) Yellow v) Violet

The radius of curvature of a mirror
1s 40 cm. Its focal length wall be

ij 20cm ) 40cm
u) 80cm iv) 160 cm.

The Alament of an electric bulb s
made up of

i) Copper i) Tungsten
ui) Nichrome 1v) Aluminium.
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The law for finding the direction of
force acting on a current carrying
conductor in magneuc field s
i Ohm's law
) Lenz’s law
in) Fleming's nght hand rule

w)  Fleming's left hand rule

WA g WTIAA & FEARS

T F e R g g e
fanire, #¥Fom

3 T VETH % T TER & 7

Explain refraction through a pnsm.

D:fferentiate between near point and
(ar point of a human eye.

Represent image formation by a
convex lens when the object is
placed between its focus and optical
centre.
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TF AT ¥ 5 U @ wn vaniee @ @
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T TR ®ifag
A person cannot see objects beyond
30 cm from his e¢ves. What is the
defect of wvision ? Find the nature
and focal length of the lens to
correct this defect

OR
A ray of Light moving from Medium-]
enters into Medium-Il1 as shown in
figure.

Medium:1

Medium -l

Which of the two is denser
medium ?

Calculate the refractive index of

Med:um-l with respect 1o
Mcd:ium-l.
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B On what factors does the resistance

of any conducting wire depend ?
OR

Current of 3 A is flowing through a
wire. How much charge will flow
through this wire in 10 minutes ?
Calculate the number of electrons
flowing per second through the wire.

TRIEA v A % fegm, s ma

ety @ Aifen s aoi Fag )
Fqa

for geem T A A ¥ ) SR &

fega q@sr o Tt W amad im
urt i fowm W & @t Frew S

Explain the principle, construction and
working of an A.C. dynamo with the hcip
of a labelled diagram.

OR

What is meant by electromagnetic
induction ? Explain Faraday's
experiment related :with electromagnétic
induction. Write the law for finding the
direction of induced current.



11 824(HX)

vy -m
PART - B
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1) CH,CHO

i) CH,-CH,

i) CH,COOH

w) CH,

o Ut @ qEEEE €3 ¢
i) N-zco,.wuzo

1) CaOCl,

1) NaOH

W) K00,
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On mowving from left to right in a
peniod 1n periodic table, the atomic
number

1} increases

i)  decreases

1:} remains constant

vl first increases then decreases.

Which one of the following
compounds is acidic in nature ?

1) CH,CHO

u) CH,-CH,

uj CH,COOH

w) CH,

The chemical formula of bleaching
powder is

i) Na,CO,;.10H,0

iij CaOCl,

iiij NaOH

iv)] K,CO,4 '
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Write down the structural {formulac
of the following compounds .

1) Butanone

n)  2-Methy! propanol-1.

What is modern periodic law ? How
many periods arc there in the
periodic table 7

Write wo Uscs of each of the
(ollowing compounds

1) Baking soda
1) Sodium hvdroxide.
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7. F) TE AW RS faww 2,8,8, 1
b sTed TR § A A B smad wem
7T T W )

7)) = b e w® e
FiaT :
P CuS -0, —>0u,0 450,

) F TE

7. a] The electronic configuration of the
clement Ais 2, 8, 8, 1. What will be
the period number and group
number of element 4 ?

b)

Balance the following reactions :
1) (‘U_}S + 03 3

iCUJO-SOJ
W €0, H,0 c‘lffup::r.ce“u‘-’. + 0,
8. ¥ M ¥ waiw (Faw sfufwar fafan) —
i) wfen wEte ofjfrE 3w & W
Fieiwar & § 2
i) Wigen IRTRERE OFRRPw arer & |
e s € 2
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i) FTETE, fud TewES & Ww siea
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Acetic acid reacts with Clh}'l
alcohol 2
Ethyl alcohol is heated at 443 K

with cone. sulphuric acid ?

OR
shET w2 wnite short noetes on the following
. i Substitution reaction
A & FU
v) e oewhre B FFgRE

443 K W 4 fem e & 2
sraar
fr= w dhea oot fefam -
i) waeae sffsa
i)  amers stafem
i) RO
iv) WA A0

What happens when {erite

reaction] —

1) Sodium carbonate reacts
acetc aad ?

iij Sodam hydraxide reacts

acetic acid ?

i) Sodium reacts with ethyl aicohol ?

i)  Addition reaction
i) Esterification

W] Homologous series
avg - M
PART - C
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Water soluble vitamun 1s

1) Vitamun D 4} Vitamun C
uy Vitamin A w) Vitamun K
Bowman's capsule is the part of
i} abdomen 1] lver
ui)) pancreas ) kidney

Male reproductive organ in
angiospermic plant is

1 gynoecium
ii} androecium
iy ovule

wv) polien tube.

B824{HX)] 18
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Which ene of the following is not the
pnnciple of theory of natural
selecucn of Darwin ?

I} Struggle for existence

uj  Survival of the fittest

1l Usc and disuse of organs

w]  Origin of new specics,

R A favegrad & s wARe)
T @ AR T | orga ® dem ik
Wkl TATEY |

o3 T 9R F I AT wEm & 2w
wa AE farratat sl ® g wE @
W ATt A BF) W wQ W gwre A

HUMTE F0 TATTR |

Differentiate between homozygous
and heterozygous.

Mention the number and types of
chromosomes found in male and
fernale humans.

Mendel conducted his experiment on
pea plants having seven pairs of
contrasting traits. Mention the
dominant and recessive traits in
length of stem and types of pod.
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i) W ] QR fazfaag
a) Describe any two  sex-linked
discases in man.
OR
Explain the hypothesis of
biochemical Origin of life
propounded by Opann.
b} Descnbe Lamarckism.
OR
Comment upon the following :
i) PFunctions of liver
1) Fat soluble vitamins.
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Descnbe the functions of different

enzymes secreted by pancreas. Add a
note on diabetes mellitus also.

OR

Differentiate  between breathing and
respiration. Describe the mechanism of
inspiration and expiration in detal.
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